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2 A&
MM C2I|EHAIL =5 L THoHOI Y

&S JI2 34| (&2 &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OHEHH HRFA 900,000 900
OAHESANIA SEUHI 50,000& =134 650
Ozgize g8 900,000& 900
Ofzgd4d &L B gR2FA 760,000& 760
305 A =2S 10,000 10,000 0
O1Hid=2S 10,000 10,000 0
Oz s X &2 =oHbHa 10,000, 000& 10,000
SH-EA OE 30,682 32,521 A 1,839
201 Bt A | 7,824 7,824 0
01 AFR2 2t 2l Yl 4,164 4,164 0
OLF& OlASs TRA 34
8,000& x 10 32 x12& 2,880
OMEXIDX H=J] UKW S 684,000 684
OHAESAMEA SHEZ O SHO0E
600,000 600
02 332494l 3,660 3,660 0
OxgHs EUHE M2 45,000 *3CHx12& 1,620
OXNEXIDX 2223 2,040
A 50,0003 *1 0 A x12& 600
SPIN= 120,000& *10H A~ x 128 1,440
202 0db] 1,440 1,680 A 240
01 2LHHI 1,440 1,680 N 240
OL-& A OF2tEtss O HI 20,0002 x6H x12& 1,440
301 dEtE A= 21,418 21,417 1
0B A ERILAZ 21,418 21,417 1
OLFMADS U #FD B 21,418
s2 405,700& 3 x12& 14,606
= AH| 6,000 x3H x22 x12& 4,752
- WSH| 2,600 x3H x222 x12& 2,060
C2AHE 163,700 59,700 104,000
cZAHE X 59,700 59,700 0
201 et A | 8,980 8,980 0
01 AFR2t2l bl 8,830 8,830 0
OSIsEY =25 2,200
ARAON S S 2,200,000 2,200
OMZ=+=golX 20,000& *300H 600
OXNMBSAEH A2F 6,030
O2E EH(EWH) 77,000& « 1094 770
T2E ElH(22}) 140,000& =154 2,100
T2E S¥ (22} 350, 000& *5H 1,750
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HE: T ZI|BHAIE &5 L THoH Ol &
ool 2 A EEREED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
E2H Y3 50,000& =154 750
=2H 2 66,000& =102 660
02 3524l 150 150 0
OxENMZ2SE RE= 3,000& x50 150
202 04| 720 720 0
01 2LHOHI 720 720 0
OBAE2 20,0003 *»3 x12& 720
305 HHA=2S 50,000 50,000 0
O1Hiad=2S 50,000 50,000 0
OMSA E2T EX B4 50,000,000& 50,000
MNEHHEEUROIIME~ANEBE X2t &2 EH 60,000 0 60,000
401 Al HI YL 2 0HHI 60,000 0 60,000
01 A& HI 60,000 0 60,000
ONEHIHEEURO0IIE~ANEEZ N2 E 2852
At 60,000,000& 60,000
2-35 AMEZ2 HIIHNHEBEHES 44,000 0 44,000
401 Al HIL 200 44,000 0 44,000
01 A& HI 44,000 0 44,000
0238 AMEE HIIHNEZEY
44,000,000& 44,000
TE2AES 22l 1,389,758 1,422,650 N 32,892
TZANEE HHl L B 1,369,932 1,369,300 632
101 @121l 23,993 16,298 7,695
04 JI2ZtH 22 XNEE S 23,993 16,298 7,695
Oxgz2as3 2 23,993
- Ol A Y| 71,8403 1Y %240 17,242
- =Xt 71,8408 1 44 3,161
- ARt 71,840 1P %11 791
=0HZIEEHEHZ2 21,194,000& *4 . 5% 954
- RUAHUEEHREHZ2 21,194,000 *3.23% 685
NEBERE S 21,194,000 *1.5% 318
ATHEERE S 21,194,000& *0.9% 191
COMIQAEEREYS 685,000 *7.38% 51
SAEZOE L A2 600,000& 600
201 Bt A | 27,439 34,502 ANT,063
01 AP 2t 2l Yl 24,439 31,502 AT,063
OE2dHE S X
494,750 x4 F *3 x23] x90% 10,687
OEzZ2a=s7 22 LIt 8,640
Ax= 600,000& x12& 7,200
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SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
sl 120,000& = 12& 1,440
Oxz=2a57 2| 2,112,000& 2,112
OE2Z2=EP 2HES 3,000,000& 3,000
02 33249l 3,000 3,000 0
Oz el ZHI(CHED,EH0IIHNHED S)
S Xl 3,000,000& 3,000
206 M = Hl 31,500 31,500 0
01 X2t 31,500 31,500 0
O=2J|s8Hl NM(BGE & |A S)
35,000, 000& *90% 31,500
401 Al HI L 2 0HHI 1,287,000 1,287,000 0]
01 A& HI 1,282,000 1,282,000 0
Ots Xzl 20,000,000& 20,000
Oxzz2z =23 600,000,000& 600,000
OASP =22 B4 200,000,000& 200,000
OQUSAES(AHMES) 4x &« FHY|
30,000,000& 30,000
oBdad He 200,000,000& 200,000
O2r2 HAELEHIIZE Hel 20,000,000& 20,000
OB&&H| 50,000,000& 50,000
O&AAX 50,000,000 50,000
OZAXIOI D& X 50,000,000& 50,000
OZANANEZE HH| 42,000,000& 42,000
Otz M33s 218 5+ 20,000,000& 20,000
03 A& 20HHI 5,000 5,000 0
OZE2RAAE A2 5,000,000& 5,000
S HH & 22 19,826 53,350 N 33,524
101 @121 19,826 23,350 N 3,524
04 JI2ZtH22XNHEE =+ 19,826 23,350 N 3,524
OB A 19,826
- o1 A HI 71,8403 *2H %100 14,368
- =X 71,840& x2H %20 2,874
- AXt 71,840& x2YH x5 719
- RUAZEEHREHZ 17,961,000& *4 .5% 809
Z0UAUEEHEEHZ2 17,961, 000& *3.23% 581
1E8g8d=2 17,961,000& *1.5% 270
ATHEEREZ 17,961, 000& *0.9% 162
SOOI QLUABEHELE =S 581,000& *7.38% 43
HMSHEAY (HED) 838,857 802,847 36,010
ol 2| 819,345 783,335 36,010
oz 23| 819,345 783,335 36,010
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